

Fekete-Szegő Results for Certain Class of Non-Bazilevič Functions Involving Linear Operator

A. O. Mostafa

Department of Mathematics, Faculty of Science, Mansoura University,
Mansoura 35516, Egypt
Email: adelaeg254@yahoo.com

G. M. El-Hawsh

Department of Mathematics, Faculty of Science, Fayoum University, Fayoum 63514,
Egypt
Email: gma05@fayoum.edu.eg

Received 21 November 2018

Accepted 26 August 2021

Communicated by Rosihan M. Ali

AMS Mathematics Subject Classification(2020): 30C45

Abstract. In this paper, by using the principal of subordination, we obtain sharp bounds for certain class of non-Bazilevič functions involving linear operator.

Keywords: Non-Bazilevič functions; Schwarz function; Fekete-Szegő results; Linear operator; Sharp bounds.

1. Introduction

Denote by \mathbb{A} the class of univalent analytic functions of the form:

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k, \quad (z \in \mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}). \quad (1)$$

For two functions $f(z)$ and $g(z)$, analytic in \mathbb{U} , the function $f(z)$ is subordinate to $g(z)$ ($f(z) \prec g(z)$) in \mathbb{U} , if there exists function $\omega(z)$, analytic in \mathbb{U} with

$\omega(0) = 0$ and $|\omega(z)| < 1$, $f(z) = g(\omega(z))$ ($z \in \mathbb{U}$) and if $g(z)$ is univalent in \mathbb{U} , then (see for details [3], [5], [12] and also [18]):

$$f(z) \prec g(z) \iff f(0) = g(0) \text{ and } f(\mathbb{U}) \subset g(\mathbb{U}).$$

The Hadamard product of $f(z)$ and $g(z) = z + \sum_{k=2}^{\infty} b_k z^k$, is defined by

$$(f * g)(z) = z + \sum_{k=2}^{\infty} a_k b_k z^k = (g * f)(z).$$

Let $\phi(z)$ be an analytic function with positive real part on \mathbb{U} with $\phi(0) = 1$, $\phi'(0) > 0$ which maps \mathbb{U} onto a region starlike with respect to 1 and is symmetric with respect to the real axis. For $b \in \mathbb{C}^* = \mathbb{C} \setminus \{0\}$, Ravichandran et al. [16] defined the classes $\mathcal{S}_b^*(\phi)$ and $\mathcal{C}_b(\phi)$ as follow:

$$\mathcal{S}_b^*(\phi) = \left\{ f \in \mathbb{A} : 1 + \frac{1}{b} \left(\frac{zf'(z)}{f(z)} - 1 \right) \prec \phi(z) \quad (z \in \mathbb{U}) \right\}$$

and

$$\mathcal{C}_b(\phi) = \left\{ f \in \mathbb{A} : 1 + \frac{1}{b} \frac{zf''(z)}{f'(z)} \prec \phi(z) \quad (z \in \mathbb{U}) \right\}.$$

We note that:

- (i) $\mathcal{S}_b^*(\frac{1+z}{1-z}) = \mathcal{S}^*(b)$ (see [14]).
- (ii) $\mathcal{C}_b(\frac{1+z}{1-z}) = \mathcal{C}(b)$ (see [23] and also [13]).
- (iii) $\mathcal{S}_b^*(\frac{1+(1-2\alpha)z}{1-z}) = \mathcal{S}_\alpha^*(b)$ (see [9]) ($0 \leq \alpha < 1$).
- (iv) $\mathcal{C}_b(\frac{1+(1-2\alpha)z}{1-z}) = \mathcal{C}_\alpha(b)$ (see [9]) ($0 \leq \alpha < 1$).
- (v) $\mathcal{S}_1^*(\phi) = \mathcal{S}^*(\phi)$ and $\mathcal{C}_1(\phi) = \mathcal{C}(\phi)$ (see [11]).

For $-1 \leq B < A \leq 1, 0 < \alpha < 1, \gamma \in \mathbb{C}$, Wang et al. [22] introduced and studied the class $N(\gamma, \alpha; A, B)$ of $f(z) \in \mathbb{A}$ satisfying

$$(1 + \gamma) \left(\frac{z}{f(z)} \right)^\alpha - \gamma \frac{zf'(z)}{f(z)} \left(\frac{z}{f(z)} \right)^\alpha \prec \frac{1 + Az}{1 + Bz}.$$

For $l \geq 0, \lambda > 0, m \in \mathbb{N}_0 = \{0, 1, 2, \dots\}$, Catas et al. [6] defined the operator $D_{\lambda,l}^m : \mathbb{A} \rightarrow \mathbb{A}$ as follow:

$$D_{\lambda,l}^m f(z) = z + \sum_{k=2}^{\infty} \left(\frac{l+1+\lambda(k-1)}{l+1} \right)^m a_k z^k.$$

The operator $D_{\lambda,l}^m$ generalizes many others see ([1], [7], [8], [10], [17] and [21]).

By making use of the operator $D_{\lambda,l}^m, b \in \mathbb{C}^*$ and the principle of subordination between analytic functions, we now introduce the following class of non-Bazilevič functions.

Definition 1.1. Let $\phi(z)$ be a univalent starlike function with respect to 1 which maps \mathbb{U} onto a region in the right half plane which is symmetric with respect to the real axis, $\phi(0) = 1, \phi'(0) > 0, \gamma \in \mathbb{C}$ and $0 < \alpha < 1$. A function $f(z) \in \mathbb{A}$ is said to be in the class $R_{m,\lambda,l}^{\alpha,\gamma}(b, \phi)$ if it satisfies the following subordination condition:

$$1 + \frac{1}{b} \left\{ (1 + \gamma) \left(\frac{z}{D_{\lambda,l}^m f(z)} \right)^\alpha - \gamma \frac{z (D_{\lambda,l}^m f(z))'}{D_{\lambda,l}^m f(z)} \left(\frac{z}{D_{\lambda,l}^m f(z)} \right)^\alpha - 1 \right\} \prec \phi(z).$$

We note that:

- (i) $R_{0,\lambda,l}^{\alpha,\gamma}(1, \phi) = R^{\alpha,\gamma}(\phi)$ (see [19]).
- (ii) $R_{0,1,0}^{\alpha,\gamma} \left(1, \frac{1+Az}{1+Bz} \right) = R^{\alpha,\gamma}(A, B)$ ($-1 \leq B < A \leq 1$) (see [22]).
- (iii) $R_{0,1,0}^{\alpha,-1} \left(1, \frac{1+(1-2\rho)z}{1-z} \right) = R^\alpha(\rho)$ ($0 \leq \rho < 1$) (see [20]).
- (iv) $R_{0,1,0}^{\alpha,-1} \left(1, \frac{1+z}{1-z} \right) = R^\alpha$ (see [15]).

Also, we obtain new subclasses for different values of λ and l :

- (i) $R_{m,1,l}^{\alpha,\gamma}(b, \phi) = R_{m,l}^{\alpha,\gamma}(b, \phi) =$
 $1 + \frac{1}{b} \left\{ (1 + \gamma) \left(\frac{z}{I_l^m f(z)} \right)^\alpha - \gamma \frac{z (I_l^m f(z))'}{I_l^m f(z)} \left(\frac{z}{I_l^m f(z)} \right)^\alpha - 1 \right\} \prec \phi(z),$

where $I_l^m f(z)$ was introduced by Cho and Srivastava [8] and Cho and Kim [7].

- (ii) $R_{m,1,0}^{\alpha,\gamma}(b, \phi) = R_m^{\alpha,\gamma}(b, \phi) =$
 $1 + \frac{1}{b} \left\{ (1 + \gamma) \left(\frac{z}{D^m f(z)} \right)^\alpha - \gamma \frac{z (D^m f(z))'}{D^m f(z)} \left(\frac{z}{D^m f(z)} \right)^\alpha - 1 \right\} \prec \phi(z),$

where $D^m f(z)$ was introduced by Sălăgean [17] (see also [4]).

- (iii) $R_{m,\lambda,0}^{\alpha,\gamma}(b, \phi) = R_{m,\lambda}^{\alpha,\gamma}(b, \phi) =$
 $1 + \frac{1}{b} \left\{ (1 + \gamma) \left(\frac{z}{D_\lambda^m f(z)} \right)^\alpha - \gamma \frac{z (D_\lambda^m f(z))'}{D_\lambda^m f(z)} \left(\frac{z}{D_\lambda^m f(z)} \right)^\alpha - 1 \right\} \prec \phi(z),$

where $D_\lambda^m f(z)$ was introduced by Al-Oboudi [1].

- (iv) $R_{m,1,1}^{\alpha,\gamma}(b, \phi) = R_m^{\alpha,\gamma}(b, \phi) =$
 $1 + \frac{1}{b} \left\{ (1 + \gamma) \left(\frac{z}{I^m f(z)} \right)^\alpha - \gamma \frac{z (I^m f(z))'}{I^m f(z)} \left(\frac{z}{I^m f(z)} \right)^\alpha - 1 \right\} \prec \phi(z),$

where $I^m f(z)$ was introduced by Uralegaddi and Somanatha [21].

(v) For $b = (1 - \beta) \cos \theta e^{-i\theta}$ ($|\theta| < \frac{\pi}{2}, 0 \leq \beta < 1$), the class $R_{m,\lambda,l}^{\alpha,\gamma}(b, \phi)$ reduces to the class

$$R_{m,\lambda,l}^{\alpha,\gamma}(\beta, \theta, \phi) = \left\{ f : \frac{e^{-i\theta} \Psi f(z) - \beta \cos \theta - i \sin \theta}{(1 - \beta) \cos \theta} \prec \phi(z) \right\}, \quad (2)$$

where

$$\Psi f(z) = (1 + \gamma) \left(\frac{z}{D_{\lambda,l}^m f(z)} \right)^\alpha - \gamma \frac{z \left(D_{\lambda,l}^m f(z) \right)'}{D_{\lambda,l}^m f(z)} \left(\frac{z}{D_{\lambda,l}^m f(z)} \right)^\alpha$$

and also, putting $\gamma = -1$ in (2), we have the following subclass:

$$R_{m,\lambda,l}^{\alpha,-1}(\beta, \theta, \phi) = \left\{ f : \frac{e^{-i\theta} \frac{z \left(D_{\lambda,l}^m f(z) \right)'}{D_{\lambda,l}^m f(z)} \left(\frac{z}{D_{\lambda,l}^m f(z)} \right)^\alpha - \beta \cos \theta - i \sin \theta}{(1 - \beta) \cos \theta} \prec \phi(z) \right\}.$$

2. Main Results

In order to prove our results, we need the following lemmas.

Lemma 2.1. [11] *If $p(z) = 1 + c_1z + c_2z^2 + \dots$ is a function with positive real part in \mathbb{U} and μ is a complex number, then*

$$|c_2 - \mu c_1^2| \leq 2 \max \{1; |2\mu - 1|\}.$$

The result is sharp for the functions

$$p(z) = \frac{1 + z^2}{1 - z^2} \text{ and } p(z) = \frac{1 + z}{1 - z}.$$

Lemma 2.2. [11] *If $p(z) = 1 + c_1z + c_2z^2 + \dots$ is an analytic function with a positive real part in \mathbb{U} , then*

$$|c_2 - v c_1^2| \leq \begin{cases} -4v + 2 & \text{if } v \leq 0, \\ 2 & \text{if } 0 \leq v \leq 1, \\ 4v - 2 & \text{if } v \geq 1. \end{cases}$$

When $v < 0$ or $v > 1$, the equality holds if and only if $p(z)$ is $\frac{1+z}{1-z}$ or one of its rotations. If $0 < v < 1$, then the equality holds if and only if $p(z)$ is $\frac{1+z^2}{1-z^2}$ or one of its rotations. If $v = 0$, the equality holds if and only if

$$p(z) = \left(\frac{1 + \lambda}{2} \right) \frac{1 + z}{1 - z} + \left(\frac{1 - \lambda}{2} \right) \frac{1 - z}{1 + z} \quad (0 \leq \lambda \leq 1),$$

or one of its rotations. If $v = 1$, the equality holds if and only if p is the reciprocal of one of the functions such that equality holds in the case of $v = 0$. Also the above upper bound is sharp, and it can be improved as follows when $0 < v < 1$:

$$|c_2 - vc_1^2| + v|c_1|^2 \leq 2 \quad \left(0 \leq v \leq \frac{1}{2}\right)$$

and

$$|c_2 - vc_1^2| + (1 - v)|c_1|^2 \leq 2 \quad \left(\frac{1}{2} \leq v \leq 1\right).$$

The technique used by (see [2]) is applied here.

Unless otherwise mentioned, we assume that $l \geq 0, \lambda > 0, m \in \mathbb{N}_0, \phi(0) = 1, \phi'(0) > 0, \gamma \in \mathbb{C}, b \in \mathbb{C}^*$ and $0 < \alpha < 1$.

Theorem 2.3. Let $\phi(z) = 1 + B_1z + B_2z^2 + \dots$ with $B_1 > 0$. If $f(z)$ given by (1) belongs to the class $R_{m,\lambda,l}^{\alpha,\gamma}(b, \phi)$ with $\alpha + \gamma \neq 0$ and $\alpha + 2\gamma \neq 0$, then

$$|a_3 - \mu a_2^2| \leq \frac{|b|B_1}{|\alpha + 2\gamma| \left(\frac{l+2\lambda+1}{l+1}\right)^m} \max \left\{ 1; \left| \frac{B_2}{B_1} - \frac{(\alpha+1)(\alpha+2\gamma)bB_1}{2(\alpha+\gamma)^2} + \frac{\mu b(\alpha+2\gamma)\left(\frac{l+2\lambda+1}{l+1}\right)^m B_1}{(\alpha+\gamma)^2 \left(\frac{l+\lambda+1}{l+1}\right)^{2m}} \right| \right\}.$$

Proof. If $f(z) \in R_{m,\lambda,l}^{\alpha,\gamma}(b, \phi)$, then there is a function ω , analytic with $\omega(0) = 0$ and $|\omega(z)| < 1$ in \mathbb{U} such that

$$1 + \frac{1}{b} \left\{ (1 + \gamma) \left(\frac{z}{D_{\lambda,l}^m f(z)} \right)^\alpha - \gamma \frac{z \left(D_{\lambda,l}^m f(z) \right)'}{D_{\lambda,l}^m f(z)} \left(\frac{z}{D_{\lambda,l}^m f(z)} \right)^\alpha - 1 \right\} = \phi(\omega(z)). \quad (3)$$

Define the function $p(z)$ by

$$p(z) = \frac{1 + \omega(z)}{1 - \omega(z)} = 1 + c_1z + c_2z^2 + \dots \quad (4)$$

Since $\omega(z)$ is a Schwarz function, we see that $\Re\{p(z)\} > 0$ and $p(0) = 1$. Therefore,

$$\begin{aligned} \phi(\omega(z)) &= \phi\left(\frac{p(z) - 1}{p(z) + 1}\right) \\ &= \phi\left\{\frac{1}{2}\left[c_1z + \left(c_2 - \frac{c_1^2}{2}\right)z^2 + \left(c_3 - c_1c_2 + \frac{c_1^3}{4}\right)z^3 + \dots\right]\right\} \\ &= 1 + \frac{1}{2}c_1B_1z + \left[\frac{1}{2}B_1\left(c_2 - \frac{c_1^2}{2}\right) + \frac{1}{4}c_1^2B_2\right]z^2 + \dots \quad (5) \end{aligned}$$

Now by substituting (5) into (3), we have

$$\begin{aligned} & 1 + \frac{1}{b} \left\{ (1 + \gamma) \left(\frac{z}{D_{\lambda,l}^m f(z)} \right)^\alpha - \gamma \frac{z \left(D_{\lambda,l}^m f(z) \right)'}{D_{\lambda,l}^m f(z)} \left(\frac{z}{D_{\lambda,l}^m f(z)} \right)^\alpha - 1 \right\} \\ &= 1 + \frac{1}{2} c_1 B_1 z + \left[\frac{1}{2} B_1 \left(c_2 - \frac{c_1^2}{2} \right) + \frac{1}{4} c_1^2 B_2 \right] z^2 + \dots \end{aligned}$$

So, we obtain

$$\begin{aligned} & -(\alpha + \gamma) \left(\frac{l + \lambda + 1}{l + 1} \right)^m a_2 = \frac{1}{2} b c_1 B_1, \\ & -(\alpha + 2\gamma) \left[\left(\frac{l + 2\lambda + 1}{l + 1} \right)^m a_3 - \frac{1}{2} (\alpha + 1) \left(\frac{l + \lambda + 1}{l + 1} \right)^{2m} a_2^2 \right] \\ &= \frac{1}{2} b B_1 \left(c_2 - \frac{c_1^2}{2} \right) + \frac{1}{4} b B_2 c_1^2, \end{aligned}$$

or, equivalently,

$$\begin{aligned} a_2 &= \frac{-b c_1 B_1}{2(\alpha + \gamma) \left(\frac{l + \lambda + 1}{l + 1} \right)^m}, \\ a_3 &= \frac{-b B_1}{2(\alpha + 2\gamma) \left(\frac{l + 2\lambda + 1}{l + 1} \right)^m} \left\{ c_2 - \frac{1}{2} \left[1 - \frac{B_2}{B_1} + \frac{(\alpha + 1)(\alpha + 2\gamma) b B_1}{2(\alpha + \gamma)^2} \right] c_1^2 \right\}. \end{aligned}$$

Therefore, we have

$$a_3 - \mu a_2^2 = \frac{-b B_1}{2(\alpha + 2\gamma) \left(\frac{l + 2\lambda + 1}{l + 1} \right)^m} [c_2 - v c_1^2], \quad (6)$$

where

$$v = \frac{1}{2} \left[1 - \frac{B_2}{B_1} + \frac{(\alpha + 1)(\alpha + 2\gamma) b B_1}{2(\alpha + \gamma)^2} - \frac{\mu b (\alpha + 2\gamma) \left(\frac{l + 2\lambda + 1}{l + 1} \right)^m B_1}{(\alpha + \gamma)^2 \left(\frac{l + \lambda + 1}{l + 1} \right)^{2m}} \right].$$

Our result now follows by using Lemma 2.1. The result is sharp for the functions

$$1 + \frac{1}{b} \left\{ (1 + \gamma) \left(\frac{z}{D_{\lambda,l}^m f(z)} \right)^\alpha - \gamma \frac{z \left(D_{\lambda,l}^m f(z) \right)'}{D_{\lambda,l}^m f(z)} \left(\frac{z}{D_{\lambda,l}^m f(z)} \right)^\alpha - 1 \right\} = \phi(z^2)$$

and

$$1 + \frac{1}{b} \left\{ (1 + \gamma) \left(\frac{z}{D_{\lambda,l}^m f(z)} \right)^\alpha - \gamma \frac{z \left(D_{\lambda,l}^m f(z) \right)'}{D_{\lambda,l}^m f(z)} \left(\frac{z}{D_{\lambda,l}^m f(z)} \right)^\alpha - 1 \right\} = \phi(z).$$

This completes the proof. ■

Putting $m = 0$ in Theorem 2.3, we obtain the following result.

Corollary 2.4. *Let $\phi(z) = 1 + B_1z + B_2z^2 + \dots$ with $B_1 > 0$. If $f(z)$ given by (1) belongs to the class $R^{\alpha,\gamma}(b, \phi)$ with $\alpha + \gamma \neq 0$ and $\alpha + 2\gamma \neq 0$, then*

$$|a_3 - \mu a_2^2| \leq \frac{|b|B_1}{|\alpha+2\gamma|} \max \left\{ 1; \left| \frac{B_2}{B_1} - \frac{(\alpha+1)(\alpha+2\gamma)bB_1}{2(\alpha+\gamma)^2} + \frac{\mu b(\alpha+2\gamma)B_1}{(\alpha+\gamma)^2} \right| \right\}.$$

Putting $\gamma = -1$ and $\alpha = 0$ in Corollary 2.4, we obtain the following result which modifies the result obtained by Ravichandran et al. [16].

Corollary 2.5. *Let $\phi(z) = 1 + B_1z + B_2z^2 + \dots$ with $B_1 > 0$. If $f(z)$ given by (1) belongs to the class $\mathcal{S}_b^*(\phi)$, then*

$$|a_3 - \mu a_2^2| \leq \frac{|b|B_1}{2} \max \left\{ 1; \left| \frac{B_2}{B_1} + (1 - 2\mu)bB_1 \right| \right\}.$$

Putting $b = (1 - \beta) \cos \theta e^{-i\theta}$ ($|\theta| < \frac{\pi}{2}, 0 \leq \beta < 1$) in Theorem 2.3, we obtain the following result.

Corollary 2.6. *Let $\phi(z) = 1 + B_1z + B_2z^2 + \dots$ with $B_1 > 0$. If $f(z)$ given by (1) belongs to the class $R_{m,\lambda,l}^{\alpha,\gamma}(\theta, \beta, \phi)$ with $\alpha + \gamma \neq 0$ and $\alpha + 2\gamma \neq 0$, then*

$$|a_3 - \mu a_2^2| \leq \frac{(1-\beta) \cos \theta B_1}{|\alpha+2\gamma| \left(\frac{l+2\lambda+1}{l+1}\right)^m} \times \max \left\{ 1; \left| \frac{\frac{B_2}{B_1} e^{i\theta} - \frac{(\alpha+1)(\alpha+2\gamma)(1-\beta) \cos \theta B_1}{2(\alpha+\gamma)^2}}{\frac{\mu(1-\beta) \cos \theta (\alpha+2\gamma) \left(\frac{l+2\lambda+1}{l+1}\right)^m B_1}{(\alpha+\gamma)^2 \left(\frac{l+\lambda+1}{l+1}\right)^{2m}}} \right| \right\}.$$

Remark 2.7. For $\gamma = -1, b = 1$ and $\phi(z) = \frac{1+(1-2\rho)z}{1-z}$ ($0 \leq \rho < 1$) in Corollary 2.4, we obtain the result of Tuneski and Darus [20].

Theorem 2.8. *Let $\phi(z) = 1 + B_1z + B_2z^2 + \dots$ with $B_1 > 0$. Let*

$$\sigma_1 = \frac{\left(\frac{l+\lambda+1}{l+1}\right)^{2m}}{2 \left(\frac{l+2\lambda+1}{l+1}\right)^m} \left[(\alpha + 1) - \frac{2(\alpha + \gamma)^2 (B_2 - B_1)}{b(\alpha + 2\gamma) B_1^2} \right],$$

$$\sigma_2 = \frac{\left(\frac{l+\lambda+1}{l+1}\right)^{2m}}{2 \left(\frac{l+2\lambda+1}{l+1}\right)^m} \left[(\alpha + 1) - \frac{2(\alpha + \gamma)^2 (B_2 + B_1)}{b(\alpha + 2\gamma) B_1^2} \right],$$

and

$$\sigma_3 = \frac{\left(\frac{l+\lambda+1}{l+1}\right)^{2m}}{2\left(\frac{l+2\lambda+1}{l+1}\right)^m} \left[(\alpha+1) - \frac{2(\alpha+\gamma)^2 B_2}{b(\alpha+2\gamma) B_1^2} \right].$$

If $f(z)$ given by (1) belongs to the class $R_{m,\lambda,l}^{\alpha,\gamma}(b,\phi)$ with $\alpha+2\gamma \neq 0$, then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{|b|B_2}{|\alpha+2\gamma|\left(\frac{l+2\lambda+1}{l+1}\right)^m} - \frac{b|b|(\alpha+1)B_1^2}{2(\alpha+\gamma)^2\left(\frac{l+2\lambda+1}{l+1}\right)^m} + \frac{\mu b|b|B_1^2}{(\alpha+\gamma)^2\left(\frac{l+\lambda+1}{l+1}\right)^{2m}} & \mu \geq \sigma_1, \\ \frac{|b|B_1}{|\alpha+2\gamma|\left(\frac{l+2\lambda+1}{l+1}\right)^m} & \sigma_2 \leq \mu \leq \sigma_1, \\ \frac{-|b|B_2}{|\alpha+2\gamma|\left(\frac{l+2\lambda+1}{l+1}\right)^m} + \frac{b|b|(\alpha+1)B_1^2}{2(\alpha+\gamma)^2\left(\frac{l+2\lambda+1}{l+1}\right)^m} - \frac{\mu b|b|B_1^2}{(\alpha+\gamma)^2\left(\frac{l+\lambda+1}{l+1}\right)^{2m}} & \mu \leq \sigma_2. \end{cases}$$

Further, if $\sigma_3 \leq \mu \leq \sigma_1$, then

$$\begin{aligned} & |a_3 - \mu a_2^2| + \frac{(\alpha+\gamma)^2 \left(\frac{l+\lambda+1}{l+1}\right)^{2m}}{|b||\alpha+2\gamma|\left(\frac{l+2\lambda+1}{l+1}\right)^m B_1^2} \\ & \times \left[B_1 - B_2 + \frac{b(\alpha+1)(\alpha+2\gamma)B_1^2}{2(\alpha+\gamma)^2} - \frac{\mu b(\alpha+2\gamma)\left(\frac{l+2\lambda+1}{l+1}\right)^m B_1^2}{(\alpha+\gamma)^2 \left(\frac{l+\lambda+1}{l+1}\right)^{2m}} \right] |a_2|^2 \\ & \leq \frac{|b|B_1}{|\alpha+2\gamma|\left(\frac{l+2\lambda+1}{l+1}\right)^m}. \end{aligned}$$

If $\sigma_2 \leq \mu \leq \sigma_3$, then

$$\begin{aligned} & |a_3 - \mu a_2^2| + \frac{(\alpha+\gamma)^2 \left(\frac{l+\lambda+1}{l+1}\right)^{2m}}{|b||\alpha+2\gamma|\left(\frac{l+2\lambda+1}{l+1}\right)^m B_1^2} \\ & \times \left[B_1 + B_2 - \frac{b(\alpha+1)(\alpha+2\gamma)B_1^2}{2(\alpha+\gamma)^2} + \frac{\mu b(\alpha+2\gamma)\left(\frac{l+2\lambda+1}{l+1}\right)^m B_1^2}{(\alpha+\gamma)^2 \left(\frac{l+\lambda+1}{l+1}\right)^{2m}} \right] |a_2|^2 \\ & \leq \frac{|b|B_1}{|\alpha+2\gamma|\left(\frac{l+2\lambda+1}{l+1}\right)^m}. \end{aligned}$$

Proof. The results of Theorem 2.8 follows by applying Lemma 2.2 to (6). To show that the bounds are sharp, we define the functions χ_{ϕ_n} ($n = 2, 3, 4, \dots$), F_λ and ξ_λ ($0 \leq \lambda \leq 1$) by

$$\begin{aligned} & 1 + \frac{1}{b} \left\{ (1+\gamma) \left(\frac{z}{D_{\lambda,l}^m \chi_{\phi_n}(z)} \right)^\alpha - \gamma \frac{z \left(D_{\lambda,l}^m \chi_{\phi_n}(z) \right)'}{D_{\lambda,l}^m \chi_{\phi_n}(z)} \left(\frac{z}{D_{\lambda,l}^m \chi_{\phi_n}(z)} \right)^\alpha - 1 \right\} \\ & = \phi(z^{n-1}), \end{aligned}$$

$$\chi_{\phi n}(0) = 0 = \chi'_{\phi n}(0) - 1,$$

$$1 + \frac{1}{b} \left\{ (1 + \gamma) \left(\frac{z}{D_{\lambda,l}^m F_\lambda(z)} \right)^\alpha - \gamma \frac{z \left(D_{\lambda,l}^m F_\lambda(z) \right)'}{D_{\lambda,l}^m F_\lambda(z)} \left(\frac{z}{D_{\lambda,l}^m F_\lambda(z)} \right)^\alpha - 1 \right\} \\ = \phi \left(\frac{z(z + \lambda)}{1 + \lambda z} \right),$$

$$F_\lambda(0) = 0 = F'_\lambda(0) - 1,$$

$$1 + \frac{1}{b} \left\{ (1 + \gamma) \left(\frac{z}{D_{\lambda,l}^m \xi_\lambda(z)} \right)^\alpha - \gamma \frac{z \left(D_{\lambda,l}^m \xi_\lambda(z) \right)'}{D_{\lambda,l}^m \xi_\lambda(z)} \left(\frac{z}{D_{\lambda,l}^m \xi_\lambda(z)} \right)^\alpha - 1 \right\} \\ = \phi \left(-\frac{1 + \lambda z}{z(z + \lambda)} \right),$$

$$\xi_\lambda(0) = 0 = \xi'_\lambda(0) - 1.$$

Clearly, the functions $\chi_{\phi n}, F_\lambda$ and $\xi_\lambda \in R_{m,\lambda,l}^{\alpha,\gamma}(b, \phi)$. If $\mu > \sigma_1$ or $\mu < \sigma_2$, then the equality holds if and only if $f(z)$ is $\chi_{\phi 2}$, or one of its rotations. When $\sigma_2 < \mu < \sigma_1$, the equality holds if and only if $f(z)$ is $\chi_{\phi 3}$, or one of its rotations. If $\mu = \sigma_1$, then the equality holds if and only if $f(z)$ is F_λ , or one of its rotations. If $\mu = \sigma_2$, then the equality holds if and only if $f(z)$ is ξ_λ , or one of its rotations. ■

Taking $m = 0$ in Theorem 2.8, we obtain the following result for the function belonging to the class $R^{\alpha,\gamma}(b, \phi)$

Corollary 2.9. *Let $\phi(z) = 1 + B_1 z + B_2 z^2 + \dots$ with $B_1 > 0$. Let*

$$\sigma_4 = \frac{1}{2} \left[(\alpha + 1) - \frac{2(\alpha + \gamma)^2 (B_2 - B_1)}{b(\alpha + 2\gamma) B_1^2} \right],$$

$$\sigma_5 = \frac{1}{2} \left[(\alpha + 1) - \frac{2(\alpha + \gamma)^2 (B_2 + B_1)}{b(\alpha + 2\gamma) B_1^2} \right],$$

and

$$\sigma_6 = \frac{1}{2} \left[(\alpha + 1) - \frac{2(\alpha + \gamma)^2 B_2}{b(\alpha + 2\gamma) B_1^2} \right].$$

If $f(z)$ given by (1) belongs to the class $R^{\alpha, \gamma}(b, \phi)$ with $\alpha + 2\gamma \neq 0$, then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{|b|B_2}{|\alpha+2\gamma|} - \frac{b|b|(\alpha+1)B_1^2}{2(\alpha+\gamma)^2} + \frac{\mu b|b|B_1^2}{(\alpha+\gamma)^2} & \text{if } \mu \geq \sigma_4, \\ \frac{|b|B_1}{|\alpha+2\gamma|} & \text{if } \sigma_5 \leq \mu \leq \sigma_4, \\ \frac{-|b|B_2}{|\alpha+2\gamma|} + \frac{b|b|(\alpha+1)B_1^2}{2(\alpha+\gamma)^2} - \frac{\mu b|b|B_1^2}{(\alpha+\gamma)^2} & \text{if } \mu \leq \sigma_5. \end{cases}$$

Further, if $\sigma_6 \leq \mu \leq \sigma_4$, then

$$\begin{aligned} & |a_3 - \mu a_2^2| + \frac{(\alpha + \gamma)^2}{|b| |\alpha + 2\gamma| B_1^2} \\ & \times \left[B_1 - B_2 + \frac{b(\alpha + 1)(\alpha + 2\gamma) B_1^2}{2(\alpha + \gamma)^2} - \frac{\mu b(\alpha + 2\gamma) B_1^2}{(\alpha + \gamma)^2} \right] |a_2|^2 \\ & \leq \frac{|b|B_1}{|\alpha+2\gamma|}. \end{aligned}$$

If $\sigma_5 \leq \mu \leq \sigma_6$, then

$$\begin{aligned} & |a_3 - \mu a_2^2| + \frac{(\alpha + \gamma)^2}{|b| |\alpha + 2\gamma| B_1^2} \\ & \times \left[B_1 + B_2 - \frac{b(\alpha + 1)(\alpha + 2\gamma) B_1^2}{2(\alpha + \gamma)^2} + \frac{\mu b(\alpha + 2\gamma) B_1^2}{(\alpha + \gamma)^2} \right] |a_2|^2 \\ & \leq \frac{|b|B_1}{|\alpha+2\gamma|}. \end{aligned}$$

Remark 2.10. For $b = 1$ in Corollary 2.9, we obtain the result of Shanmugam et al. [19].

Remark 2.11. Specializing the parameters λ, l and m in the above results, we obtain corresponding results for the subclasses (i)–(iv) involving the different operators mentioned in the introduction.

Acknowledgement. The authors wish to thank Prof. Dr. M.K. Aouf for his kindly encouragement and help in the preparation of this paper.

References

- [1] F.M. Al-Oboudi, On univalent functions defined by a generalized Salagean operator, *Int. J. Math. Math. Sci.* **27** (2004) 1429–1436.
- [2] M.K. Aouf and A.O. Mostafa, Fekete-Szego result for classes of p -valent functions defined by convolution, *Southeast Asian Bull. Math.* **41** (2017) 1–9.
- [3] M.K. Aouf, A.O. Mostafa, T.M. Seoudy, *Subordination and Superordination Results for Analytic Functions Involving Certain Operators*, Lambert Acad. Publishing, 2014.

- [4] M.K. Aouf and H.M. Srivastava, Some families of starlike functions with negative coefficients, *J. Math. Anal. Appl.* **203** (3) (1996) 762–790.
- [5] T. Bulboacă, *Differential Subordinations and Superordinations, Recent Results*, House of Science Book Publ. Cluj-Napoca, 2005.
- [6] A. Catas, G.I. Oros, G. Oros, Differential subordinations associated with multiplier transformations, *Abstract Appl. Anal.* (2008), ID 845724, 11 pages.
- [7] N.E. Cho and T.H. Kim, Multiplier transformations and strongly close-to-convex functions, *Bull. Korean Math. Soc.* **40** (2003) 399–410.
- [8] N.E. Cho and H.M. Srivastava, Argument estimates of certain analytic functions defined by a class of multiplier transformations, *Math. Comput. Modelling* **37** (2003) 39–49.
- [9] B.A. Frasin, Family of analytic functions of complex order, *Acta Math. Acad. Paedagog. Nyházi. (N.S.)* **22** (2) (2006) 179–191.
- [10] I.B. Jung, Y.C. Kim, H.M. Srivastava, The Hardy space of analytic functions associated with certain one-parameter families of integral operators, *J. Math. Anal. Appl.* **176** (1993) 138–147.
- [11] W. Ma and D. Minda, A unified treatment of some special classes of univalent functions, In: *Proceedings of the Conference on Complex Analysis*, Z. Li, F. Ren, L. Yang, S. Zhang (Eds.), Int. Press, 1994.
- [12] S.S. Miller and P.T. Mocanu, *Differential Subordinations: Theory and Applications*, Series on Monographs and Textbooks in Pure and Applied Mathematics, Vol. **225**, Marcel Dekker, New York and Basel, 2000.
- [13] M.A. Nasr and M.K. Aouf, On convex functions of complex order, *Mansoura Sci. Bull.* **9** (1982) 565–582.
- [14] M.A. Nasr and M.K. Aouf, Starlike function of complex order, *J. Natur. Sci. Math.* **25** (1) (1985) 1–12.
- [15] M. Obradovic, A class of univalent functions, *Hokkaido Math. J.* **27** (2) (1998) 329–335.
- [16] V. Ravichandran, Y. Polatoglu, M. Bolcal, A. Sen, Certain subclasses of starlike and convex functions of complex order, *Hacetatepe J. Math. Statistics* **34** (2005) 9–15.
- [17] G.S. Salagean, Subclasses of univalent functions, In: *Complex Analysis: Fifth Romanian-Finnish Seminar; Part 1 Bucharest*, (Lecture Note in Math., 1981), Springer-Verlag, 1983.
- [18] T.M. Seoudy, Certain subclass of p -valent functions defined by the generalized integral operator, *Southeast Asian Bull. Math.* **39** (2015) 877–890.
- [19] T.N. Shanmugam, M.P. Jeyaraman, S. Sivasubramanian, Fekete-Szegő functional for some subclass of non-Bazilevic functions, *J. Inequal. Pure Appl. Math.* **7** (3) (2006), Art. 117, 7 pages.
- [20] N. Tuneski and M. Darus, Fekete-Szegő functional for non-Bazilevic functions, *Acta Math. Acad. Paed. Nyházi.* **18** (2002) 63–65.
- [21] B.A. Uralegaddi and C. Somanatha, Certain classes of univalent functions, In: *Current Topics in Analytic Function Theory*, Ed. by H.M. Srivastava and S. Owa, World Scientific Publishing Company, 1992.
- [22] Z. Wang, C. Gao, M. Liao, On certain generalized class of non-Bazilevic functions, *Acta Math. Acad. Paed. Nyházi.* **21** (2005) 147–154.
- [23] P. Wiatrowski, The coefficients of a certain family of holomorphic functions, *Zeszyty Nauk. Univ. Łódz. Nauki Mat. Przyrod. Ser. II* **39** (1971) 75–85.